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College English Achievement Test 1
(Band 3)
Paper One

Part I Listening Comprehension (15 points, 20 minutes)

Section A

Directions: Inn this section, you will hear ten short conversations. At the end of each conversa-
tion, a question will be asked about what was said. The conversation and the question will be
spoken only once. After each statement , there will be a pause. During the pause , you must read
the four choices marked A), B), C) and D), and decide which is the best answer. Then mark
the corresponding letter on the Answer Sheet with a single line through the center.
Example: You will hear :
You will read :
A) At the office. B) In the waiting room.
C) At the airport. D) In a restaurant.
Sample answer A3 [B] [C] [D]
From the conversation we know that the two were talking about some work they have
to finish in the evening. This is most likely to have taken place at the office. Therefore ,
A) “At the office” is the best answer. You should choose answer [ A] on the Answer
Sheet and mark it with a single line through the center.

1. A) Basement. B) Closet. C) In the car. D) Living room.
2. A) Richard is hard to find.
B) Richard speaks with difficulty.
C) Richard’s roommate doesn’t talk to him.
D) Richard doesn’t work very hard.
3. A) It is closed. B) 12 noon to 9 p. m.
C)9%a. m. to5p. m. D) 9 a. m. to 12 noon.
4. A) That the man will not be able to sleep.
B) That someone will enter the house.
C) That the lock on the door will break.
D) That the man will not be able to come back.
5. A) No one will look at the bulletin board.
B) The store isn’t a good place for a meeting.
C) The man has never noticed a bulletin board there.



c 4 FRREERSHNIREEE

D) The woman should ask the manager.
6. A) Steamed rice would be nice for dinner.
B) There are a lot of hot-air balloons.
C) Steve must be over ninety years old.
D) It's hot and humid outside.
7. A) He is sick. B) He is worried.
C) He is confident. D) He is angry.
8. A) He went to see the foreign student advisor.
B) He went to Washington.
C) He went to the Passport Office.
D) He reported it to the Passport Office.
9. A) The hotel service is excellent.
B) The hotel service is poor.
C) The hotel is too expensive.
D) She doesn’t like high quality hotel.
10. A) William just learned to play piano.
B) William plays the piano very well.
C) William couldn’t play the piano.
D) William was proud.

Section B

Directions: In this section , you will hear three short passages. At the end of each passage ,
you will hear some questions. Both the passage and the questions will be spoken only
once. After you hear a question, you must choose the best answer from the four choices
marked A), B), C) and D), and decide which is the best answer. Then mark the corre-
sponding letter on the Answer Sheet with the single line through the center.

Passage One _
Questions 11 to 13 are based on the passage you have just heard.
11. A) Wales. B) London. C) Scotland. D) Ireland.
12.  A) 200. B) 1000. C) 1200. D) 20.
13. A) 2,000. B) Under 1,000. C) About 2,000. D) Over 1,000.
Passage Two
Questions 14 to 16 are based on the passage you have just heard.
14. A) Near his office. B) At the theatre.
C) In a restaurant. D) At home.
15. A) She was pleased. B) She was depressed.

C) She was surprised. D) She was amused.
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16. A) He was pleased. B) He was upset.
C) He was amused. D) He was frightened.

Passage Three
Questions 17 to 20 are based on the conversation you have just heard.
17. A) A picture of the British arms.
B) A picture of the queen'’s palace.
C) A picture of Rowland Hill.
D) A picture of Queen Victoria.
18. A) In 1840. B) In 1820. C) In 1804. D) In 1890.
19. A) The British government.
B) The individual post offices.
C) Either the sender or the receiver of a letter.
D) The queen.
20. A) Thirty cents. B) Ten cents. C) Twenty cents. D) Forty cents.

Section C Spot Dictation

Directions: In this section, you will hear a passage of about 120 words three times. The
passage is printed with about 50 words missing. First, you will hear the whole passage
from the begiﬁning to the end just to get a general idea of it. Then , in the second reading ,
you will hear a signal indicating the beginning of a blank after each sentence, sometimes
two sentences or just part of a sentence. During the pause , you must write down the miss-
ing words you have just heard in the corresponding space. There is also another signal in-
dicating the end of the blank. When you hear this signal , you must get ready for what
comes next from the recording. You can check what you have written when the passage is
read to you once again without the pauses.

The year was 1932. Amelia Earhart was flying alone _ (21) in a small one — en-
gine airplane. _ (22),several hours after she had left Newfoundland, she _ (23) . To
make things worse, her altimeter failed. (The altimeter shows _ (24)  above the
ground. ) At night, and in a storm, a pilot _ (25)  without an altimeter. At times, her
plane nearly plunged into the Atlantic Ocean. Just before daylight, _ (26) . Amelia
noticed flames _ (27) . Would she be able to reach land? There was nothingto do __
(28) . Amelia Earhart did reach Ireland, _ (29) , she was warmly welcomed in Eng-
land and Europe. _ (30) , Amelia Earhart was famous.

Part II Vocabulary (10 points, 10 minutes)

Directions: Each of the following sentences is provided with four choices. Choose the one
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that best completes the sentence. Then mark the corresponding letter on the Answer Sheet

with the single line through the center.

31.

32.

33.

34.

35.

36.

37.

338.

39.

40.

The story of his adventures excellent reading.

A) begins B) makes C) brings up D) grows

The fire, which was thought as under control, again during the night.

A) turned up B) showed up C) flared up D) set up

She the book for three years, but failed to have it published to her disap-
pointment. '

A) labored on B) labored at C) wrote out D) worked for

She waited at the station in of his arrival.

A) wish B) desire C) anticipation D) want

What punishment does the law for a stealing case?

A) describe B) prescribe C) show D) design

When the snake emerged from behind the tree, there was a(n) among the girls.
A) surprise B) shock C) panic D) amazement

Mary a very difficult passage in the book for me.

A) translated B) interpreted C) spoke D) talked

We’'re determined to build our socialist country with Chinese .

A) essentials B) characteristics C) necessities D) foundations

The home, social and moral are important to the growth of children.

A) environment B) surrounding C) circumstance D) situation

This letter is so badly written that I can hardly what the writer is trying to say.
A) make up B) bring up C) single out D) figure out

Part III Structure (20 points, 10 minutes)

Section A

Directions: Each of the following sentences is provided with four choices. Choose the one
that best completes the sentence. Then mark the corresponding letter on the Answer Sheet

with a single line through the center.

41.

42,

43.

If only the parcel there in time. .

A) arrives B) arrive C) had arrived D) has arrived
The boy climbed up the tree and picked up all the fruit reach.

A) in B) at C) within - D) inside

The output of the gold mine is now four times : it was before liberation.

A) that B) what C) which D) than
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44, him do this job by himself?
A) Why not let B) Why don’t let
C) Why not to let D) Why you not to let
45. He moved away from his parents and missed them _ enjoy the exciting life in
New York. '
A) too much to B) very much to
C) much so as to D) enough to
46. Evidence came up specific speech sounds are recognized by babies as young
as months old.
A) what B) that C) whose D) which
47. The rain was heavy and the land was flooded.
A) consequently B) continuously C) constantly D) consistently
48. You never told us why you were late for the last meeting, ?
A) have you B) haven’t you C) did you D) didn’t you
49. Without water, there no plants.
A) would have  B) would be C) were to be D) were
50. their children are grown, Mr. & Mrs. Grayson live by themselves.
A) Now that B) But that C) for that D) As for
51. 1 am almost finished. I just need six minutes.
A) another B) other C) the other D) the others
52. 1 know he hasn’t finished the work, but , he is a very busy man.
A) above all B) in all C) after all D) at all
53. “Did Tom ask you where to get a bus schedule?”
“I suggested the bus station. ”
A) he call B) him to call C) he calling D) he calls
54. I can’t help about the accident.
A) think B) to think C) thinking D) be thinking
55. I don’t like dogs. I'm always afraid .
A) to be bitten  B) of biting C) of being bitten D) to bite
Section B

Directions: Each of the following sentences has four underlined parts marked A, B, C and

D.

Identify the one that is not correct. Then mark the corresponding letter on the Answer

Sheet with a single line through the center .

56.

We have been thinking of getting someone to help. y_l the work, but haven’t succeed-
A B ‘
ed to find a suitable person. "
C D
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57. If children were fed nourishing breakfasts before they left for school,

A B
there would be less problems in the early morning classes.
C D
58. The house that was used to stand at this corner was destroyed during the bombing in
A B C D

1940.
59. On most American farms, one or two principal products is raised for a cash crop.

A B C D
60. Sally and her sister both saw the play, but she was disappointed in it. -

A B C D

Part IV Reading Comprehension (20 points, 35 minutes)

Directions: In this part there are four passages. Each passage is followed by a number of
comprehension questions. Read the passages and answer the questions. Then mark the
corresponding letter on the Answer Sheet with the single line through the center.

Questions 61 to 65 are based on the following passage:
As civilization proceeds in the direction of technology, it passes the point of supply-

ing all the basic essentials of life——food, shelter, clothes and warmth. Then we are

faced with a choice between using technology to provide and fulfil needs which have now
been regarded as unnecessary or, on the other hand, using technology to reduce the
number of hours of work which a man must do in order to earn a given standard of liv-
ing. In other words, we either raise our standard of living above that necessary for com-
fort and happiness or we leave it at this level and work shorter hours.

I shall take it for granted that mankind has, by that time, chosen the latter alterna-
tive. Men will be working shorter and shorter hours in their paid employment. It follows
that the housewife will also expect to be able to have more leisure in her life without

lowering her standard of living. It also follows that human domestic servants will have

completely ceased to exist. Yet the great majority of the housewives will wish to be re-
lieved completely from the routine operations of the home such as scrubbing the floors or
the bath of the cooker, or washing the clothes or washing up, or dusting or sweeping, or
making beds.

By far the most logical step to relieve the housewife of routine is to provide a robot
which can be trained to the requirements of a particular home and can be programmed to
carry out half a dozen or more standard operation, when so switched by the housewife.
61. As civilization develops in the direction of technology,

A) the basic essentials of life must be supplied

B) it is important to supply the basic essentials of life

C) it is no longer so important as it was in the past to supply all the basic essentials
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of life

D) it is not necessary to supply the basic essentials of life
62. According to the author, what choice are we faced with?

A) The choice of providing and fulfilling our needs.

B) The choice of using technology.

C) The choice of earning a standard of living.

D) A choice between using technology to provide and fulfil needs and using technol-

ogy to reduce the number of hours of work.

63. What alternative will mankind have chosen in future?

A) To leave our standard of living at this level and work shorter hours.

B) To raise our standard of living.

C) To fulfil needs which have been regarded as unnecessary.

D) To lower our standard of living and work shorter hours.
64. What do most housewives wish to do?

A) To stop doing their housework.

B) To do less homework.

C) To get rid of the heavy burden of their housework.

D) To do only simple and light housework.
65. A robot is

A) a kind of motor car

B) a kind of computer

C) a kind of automatic machine that acts almost like a man

D) a kind of electric instrument

Questions 66 to 70 are based on the following passage:

Most of the people who appear most often and most gloriously in the history books
are great conquerors and generals and soldiers, while the people who really helped civi-
lization forward are often never mentioned at all.

We do not know who first set a broken leg, or launched a seaworthy boat, of calcu-
lated the length of the year, or manured a field; but we know all about the killers and
destroyers. People think a great deal of them, so much so that on all the highest pillars
in the great cities of the world you will find the figure of a conqueror or a general or a
soldier. And I think most people believe that the greatest countries are those that have
beaten in the battle the greatest number of other countries and ruled over them as con-
querors.

It is just possible they are, but they are not the most civilized. Animals fight; so do
savages; hence to be good at fighting is to be good in the way in which an animal or a
savage is good, but it is not to be civilized. Even being good at getting other people to
fight for you and telling them how to do it most efficiently——this, after all, is what
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conquerors and generals have done—is not being civilized. People fight to settle quar-
rels. Fighting means killing, and civilized peoples ought to be able to find some way of
settling their disputes other than by seeing which side can kill off the greater number of
the other side, and then saying that that side which has killed most has won. And not
only has won, but, because it has won, has been in the right. For that is what is going to

mean in a war; it means saying that might is right.
66. On all the highest pillars in the great cities of the world, we find
A) the figure of the same conqueror or general or soldier
B) the figure of some conqueror or general or soldier
C) a figure representing the number of conquerors, generals and soldiers in that
~ country
D) the figure of a person who helped civilization forward
67. Most people believe that the greatest countries are those that
A) built the highest pillars
~ B) were beaten in battle by the greatest number of other countries
C) were ruled by the greatest number of conquerors
D) won the greatest number of battles against other countries
68. In the author’s opinion, the countries that ruled over a large number of other coun-
tries are .
A) certainly not the greatest in any way
B) neither the greatest nor the most civilized
C) possibly the most civilized but not the greatest
D) possibly the greatest in some degree but not the most civilized
69. The author says that civilized people should
A) not have any quarrels to settle
B) not fight when there are no quarrels to settle
C) settle their quarrels without fighting
D) settle their quarrels by seeing which side can kill off the greater number of the
other side.
70. “Might is right” in the last sentence means that
A) those who fight believe that the winner is right and the loser wrong
B) only those who are powerful should go to war
C) those who are right should fight against those who are wrong
D) in a way only those who are powerful will win

Questions 71 to 75 are based on the following passage: ::

Another common type of reasoning is the search for causes and results. We want to
know whether cigarettes really do cause lung cancer, what causes malnutrition, the de-
cay of cities, or the decay of teeth. We are equally interested in effects: what is the ef-
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fect of sulfur or lead in the atmosphere, of oil spills and raw sewage in rivers and the
sea, of staying up late on the night before an examination?

Causal reasoning may go from cause to effect or from effect to cause. Either way,
we reason from what we know to what we want to find out. Sometimes we reason from
an effect to a cause and then on to another effect. Thus, if we reason that because the
lights have gone out, the refrigerator won’t work, we first relate the effect (lights out)
to the cause (power off) and then relate that cause to another effect (refrigerator not
working). This Kind of reasoning is called, for short, effect to effect. It is quite com-
mon to reason through an extensive chain of causal relations, When the lights go out we

might reason in the following causal chain: lights out——power off refrigerator not

working temperature will rise——milk will sour. In other words, we diagnose a suc-
cession of effects from the power failure, each becoming the cause of the next.

Causes are classified as necessary, sufficient, or contributory. A necessary cause is
one which must be present for the effect to occur, as combustion is necessary to drive a
gasoline engine. A sufficient cause is one which can produce an effect unaided, though
there may be more than one sufficient cause; a dead battery is enough to keep a car from
starting, but faulty spark plugs or an empty gas tank will have the same effect. A con-
tributory cause is one which helps to produce an effect but cannot do so by itself, as run-
ning through a red light may help cause an accident, though other factors—pedestrians
or other cars in the intersection

must also be present.
In establishing or refuting (¥48]) a causal relation it is usually necessary to show the
process by which the alleged cause produces the effect. Such an explanation is called a

causal process.
71. What the author discussed in the previous section is most probably about
A) relationships between causes and results
B) classification of reasoning
C) some other common types of reasoning
D) some special type of reasoning
72. According to the passage, to do the “effect to effect” reasoning is to reason

A) from cause to effect
B) from effect to cause _
C) from effect to effect and on to cause
D) from effect to cause and on to another effect
73. A necessary cause is .
A) one without which it is impossible for the effect to occur
B) one of the causes that can produce the effect
C) one that is enough to make the effect occur
D) none of them
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74. Your refrigerator is not working and you have found that electric power has been cut
off The power failure is a

A) necessary cause B) sufficient cause
C) contributory cause D) none of them
75. This passage mainly discusses
A) causal reasoning B) various types of reasoning
C) classification of causes D) the causal process

Questions 76 to 80 are based on the following passage:

I hear many parents complaining that their teenage children are rebelling. 1 wish it
were so. At your age you ought to be growing away from your parents. You should be
learning to stand on your own two feet. But take a good look at the present rebellion. It
seems that teenagers are all taking the same way of showing that they disagree with their
parents. Instead of striking out boldly on their own, most of them are clutching at one
another’s hands for reassurance.

They claim they want to dress as they please. But they all wear the same clothes.
They set off in new directions in music. But somehow they all end up huddled round lis-
tening to the same record. Their reason for thinking or acting in thus-and-such a way is
that the crowd is doing it. They have come out of their cocoon——into a larger cocoon.

It has become harder and harder for a teenager to stand up against the popularity
wave and to go his or her own way. Industry has firmly carved out a teenage market.
These days every teenager can learn from the advertisements what a teenager should
have and be. And many of today’s parents have come to award high marks for the popu-
larity of their children. All this adds up to a great barrier for the teenager who wants to
find his or her own path. '

But the barrier is worth climbing over. The path is worth following. You may want
to listen to classical music instead of going to a party. You may want to collect rocks
when everyone else is collecting records. You may have some thoughts that you don’t
care to share at once with your classmates. Well, go to it. Find yourself. Be yourself.
Popularity will come——with the people who respect you for who you are. That’s the
only kind of popularity that really counts. ‘

76. The author’s purpose in writing this passage is to tell

A) readers how to be popular with people around
B) teenagers how to learn to decide things for themselves
C) parents how to control and guide their children
D) people how to understand and respect each other
77. According to the author, many teenagers think they are brave enough to act on their
own, but in fact, most of them
A) have much difficulty understanding each other



